A

SDARJ|EBESE

SDARJI = m#tiE

PLAT 1Bl AR HE

Bt R R EIAE
LABNHEEBEE, DEEBESE

EEFREX S

I

ZHEESITENE —o

B KE AL

SDA: BESIL
(25

SSA: BESIL

(IR

STA: B&FSEL

(EBSIAR)

SDAD: BESII
R E sHA)

SDAJ: ZEMSEL

12, 16 20. 25, 32, 40, 50, 63, 80, 10055k HE RN TIRTER)
IR D BN N ZPHISITE, SRS
ER g SDAT: BESIL
(ER2NER)
RREN, BUDELETH
IASEE. TESEEMNXBISSED, BETsE
SDAW: BESIL
NS ER)
SEEBEHAR
BNL: i (N)
SEEEF 1 ZEER =S EA(MPa) SE|FEF 3z ZEAER Z5EA(MPa)
HE ShE AR (mm®)| 0.1/ 02[03[04|05] 0607 HE M R (mm’) | 0.1 0.2 | 03 | 04| 05 | 06 | 0.7
BHER)| 1131 — 1126239352 465|579 69.2 JBHEEn) | 12566 | - | 168.6 | 294.3 | 420.0 | 545.6 | 671.3 | 796.9
121 & SINE5F)| 848 - | 70 154]239[324 409[494 | .o SIAEH) | 1055.6 — 11284 |234.0 3395 | 445.1 | 550.6 | 656.2
= B 1131 - 1226(339|45.2 565|679 79.2 =5 8| 1256.6 | 125.7 | 251.3 | 377.0 | 502.7 | 628.3 | 754.0 | 879.6
= R 84.8 - [17.0[254 (3394245009 |59.4 HIfl] 1055.6 | 105.6 | 211.1 | 316.7 | 422.2 | 527.8 | 633.3 | 738.9
BHEBE)| 2011 - 1202403604 |80.5[100.6/120.7 BT | 19635 | 89.3 | 286.7 | 482.0 | 678.4 | 874.7 [1071.1|1267.4
R SINEEH)| 1728 | - 146 31.8]49.1|66.4|83.7[101.0 50| 20 SINER) | 16493 | 57.9 | 222.9 | 387.8 | 552.7 | 717.7 | 882.6 |1047.5
_ﬁJHEEUH\U 201.1 — 1402603 |80.4[100.5/120.6/140.7 _Z_SUHWU 1963.5 | 196.3 | 392.7 | 589.0 | 785.4 | 981.7 [1178.1]1374.4
= #1728 | - | 34.651.8|69.1|86.4(103.7/121.0 = [AIl]| 1649.3 | 164.9 | 329.9 | 494.8 | 669.7 | 824.7 | 989.6 |1154.5
#H®n)| 3142 | - [39.871.2(102.7/134.1/165.56/196.9 BHEEA) | 3117.2 | 135.7 | 447.4 | 759.2 |1070.9/1382.6|1694.3|2006.1
20| 8 SIANEH)| 2639 | - | 298 56.2|82.6(108.9/135.3/161.7 63 | 20 SIAEET) | 2803.1 | 104.3 | 384.6 | 664.9 | 945.2 [1225.5|1505.9|1786.2
=5 B 3142 - | 62.8]94.2125.7/157.1/1188.5/219.9 =5 M| 3117.2 | 311.7 | 623.4 | 935.2 [1246.9/1558.6/1870.3/2182.1
=05 2639 | — | 52.8 | 79.2 |105.6/131.9 158.3184.7 S8 g 28031 | 2803 | 560.6 | 840.9 |1121.2 140165 1681.9|1962.2
BHER) | 4909 | - |69.7118.8/167.8/216.9/266.0/315.1 80 25 =% 8| 5026.5 | 502.7 |1005.3/1508.0/2010.6/2513.3/3015.9/3518.6
25 10 SIANSBz5)| 4123 - | 54.0[95.2(136.4/177.7/218.9/260.1 HIflll| 4535.7 | 453.6 | 907.1 |1360.7 |1814.3|2267.8/2721.4|3175.0
=5 B 4909 | - | 982 147.3/196.3/245.4/294.5/343.6 100 32 |EE 8| 7854.0 | 785.4 |1570.8]2356.2|3141.6/3927.0|4712.4|5497.8
RN 412.3 - | 82.5(123.7/1164.9/206.2|247.4/288.6 HIMJ| 7049.7 | 705.0 [1409.9/2114.9/2819.9/3524.94229.8|4934.8
B8] | 8042 | - |105.3/185.8/266.2|346.6/427.0/507.5
32| 12 SINEn) | 691.2 - 182.7/151.8/221.0/290.1/359.2|428.3
a1 B0 804.2 - 1160.8/241.3/321.7/402.1/482.5/563.0
R 6912 | - [138.2/207.3]276.5/345.6/414.7|483.8
RE5EAGEAMN A
1. TIEPRAZESKE, MEREHNTHBSE; i 6. RSEIAIZENEERDRE, —RTEAIEELRK;
2. AEBRXBBEMESFET, NEBABNEYM SR MR = ; 7. ERRMET, NEREVARBTE, FIEARFDBIKDES;
3. MEEKX, A%, IEENE. ML, BRBENES, SEINKE 3 8. SIALENEPINRIERAZSNOEG, MESSEINES TERNERSS;
ABRIBIBH P 1B ; | 9. SHHFTENBENMER, BEEREMS, HAESOMIBHLBEE, BIIR:
4. SEEBABER, DAUVSKREBANEY, BHIEADHASEIN; | Al. BEATBETHFH.
5. SEEAMRNET40 u mEL BRI IR S TS |

L




ik Al

AIl'TAL

SDAZR I

M
AZ(mm) 12 | 16 | 20 [ 25 | 32 | 40 | 50 | 63 | 80 | 100
= =aiiic]
AR N RN | .
TETR ?ﬁ%MumuLﬁﬂLﬁ
EmE (=R 0.15~1.0MPa(22~145psi)(1.5~10.0bar)
o8B |En5E 0.2~1.0MPa(28~145psi)(2.0~10.0bar)
RIEMY D 1.5MPa(215psi)(15bar)
¥ = T/EBRE °C -20~70
— EEFARESEE mm/s 2. 30~500 B5)A. 50~500
SDAD SDAJ FEAEDE mm 712<100+}°  {31€>100+}5
=T =|:ziJJ =EM HBE HH+ s LI
BEB0/ bh M5 x 0.8 | pmi/s | PTI4 | PT38
SPAS - SSATS  STA-S - SDAD-S - SDAJS ) BEFVEPTITIEE; 3. EHRBEIERE P03,
) ) ) HE R s
SDAT SDAT-S
_EEEEEmD _EEEEEﬂD A &(mm) T (mm) RAITEE
12 = |t | 510 15 20 25 30 35 40 45 50 50
SDAW SDAW-S 16 B0 |KIEE 51015 20 25 30 35 40 45 50 55 60 60
=T 510 15 20 25 30 30
HD]E ::IHE]]D S M98 | 5101520 25 30 35 40 45 50 55 60 65 70 75 80 85 90 90
20 |5 |RMtE 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 100
o £ 5101520 25 30 30
it 2532 |2 |PWEX | 510 1520 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 110 120 120
4050 7)) |[/NHFHE 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 110 120 130|130
10 T ERAARE; 63 &) 510 15 20 25 30 30
[ ——— P 2 P 80 E\Eﬁﬁﬁz 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 110 120 120
2, WASEE, SEOSENXBASHN, RRTR; 100 |5) [ RBJHE 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 110 120 130|130
3. IHARERENBESBIFERAMNE, WE. MAMES; 6
4, BEBIXBRUNOBHSNL, RYEE, BiEBIEE; 1. ABSHTIRDEA, SBOE-BATRN, FFRME, BEERRTRESANTERR;
5. RERIEN, AEENTRRETE. 2. RAIETEANFNMIEUL—IRETRSEIMMN, HEINERYN E—RIpETESEL
6. EAE S E RS, DS E gﬁgg%%mqhﬁm%ﬂmq&wﬂmﬁw&n&E%WWEwﬂﬂﬂﬁm,E%%
7. OB SER L IHOEE
R T 5
SDA 20x30 S B [
\ \ \ ||
SDAD 20 x 30 S B D
\ \ \
iE?JE§x30§F s B
DRSS Q& B2 @iREgTE OHARS Glit LiEE DFRIRTE (2]
I, 1216 20 25 32
SDA: BESELERR) 2050 63 80100
SSA: BESELEPHR) (11] 1216 20 25 oA 2= 7=
3 =12 oY PN o= ]
STA: BHLEDS D 324050 63 | ¥TiEBIE ChplEs | E8 AFT sm. prg
SDAD: #B&ESEL ORIBE ) 1216 20 25 32
SDAJ: BESE WA ETTRIHE) | 4050 63 80100 R
SDAT20x30x10 S B [
DHRERS Qf#& @f7]1 @f722 CHARS @ FEHTFE DF BRI [F2]
SDAT: BESILEMSUER) 1216 20 25 32 | s /mso s | 20 FWHE | 0. AZR -
SDAW, EESINEE DS nER, |4050 63 80100 | ITEIIE EMTRIIRGES | S Himn 5. S =8 PTF

DE1] B BB SIEEM MY, AIERERESE, MSEEMTEEENFRTHEOEN
SBHSINLRERSNEENED, GERERERE, HSINEEMREEMNIERTBLEL

[H2] SEEAMFY, WIRIEBAZ,
(3] 17121 +{7122 < 1T12DIRDPIIIEUE

L




ik Al

AIl'TAL

SDAZJI
NEBERREEFHME
SDA F8 &#® R Fs &% R
1 BE |L(@12. 16NEESERETR)| 7 | BIE BEE
2 (FERGR NBR 8 | ORUA NBR
3 BE|Efe12. 1eMEEEEE)| 9 | CHEIA SHEIN
4 | BFEOS NBR 10 |BI&E0% NBR
5 | SBHEM S45CHENPERIHEE 11 |\ [
6 | MK 88 12 | WNE F(012~32)/MEMRIETE)
.__Iﬂ'lllllllllllll'llll"l!
ShEBHL &
SDA
KA KA i KA KA -
®12. ©16 =2 LAY W i ~ e
K 5 | ©20~0100 A A i
< i e—— J
i sl s o
S B =
H s | H —
—me | A 2P e | —B% | |2 e
DAl[mMA ! DA| |[MA ]
AB AC+1712 i =
A+(TIZ i AB AC+{T72
! A+{T712
. A AC PA PB
HEES s B memm B BA D DA E EA H J JA K KA KB M MA P o oo oo cens T
12 223251727 25, - | 6| 4 |M3x05| 6 | 5|65 |45 M5x08@3,:®42 | 12 16.3/10.2) 1 |M5x0.8/ 75 | 75 | 5 5 |23
16 24 | 34 |55(185(285/29 | - | 6 | 4 |[M3x05| 6 | 5|65 |45 M5x0.83@3:®4.2 | 12198/ 11 | 15|M5x0.8/ 8 8 5 | 55 |28
20 25 | 35 |5.5(19.5/295 34 | 36 | 8 | 4 M4x07| 8 | 6 65|45 M5x08@3,:®42 |14 |24 |13  15|M5x0.8/ 8 9 5 | 55 | -
25 27 1376|2131 40 4210 4 |M5x0.8| 10| 8 |82 55| M6x1.0 ®3:®52 | 15|28 | 17 | 2 |[M5x0.8/ 9 9 | 55 55 |-
32 [31.5/415 7 [245/345 44 50 12 45/ M6x1.0| 12|10 8.2 55| M6x1.0 @3:®5.2 | 16 | 34 | 22 | 25| PT1/8 | 9 9 /65 9 |-
40 33 43| 7 26|36 |52(585/ 16| 4 |[M8x1.25/ 12 |14 105 6.5 | M8x 1.25 @3:®6.7 | 20 | 40 | 28 | 3 | PT1/8 | 95 | 95 | 756 | 75 | —
50 37 479 28|38 |62(715/20 5 [M10x1.5/ 15 17105 6.5 | M8x1.25 @3:®6.7 | 25 | 48 |38 4 | PT1/4 | 8 | 105| 8 | 105 -
63 41519 32|42 | 75/845/ 20| 5 [M10x 1.5 15 | 17105/ 6.5 | M8x 1.25 &3, ®6.7 | 25 | 60 | 40 | 4 | PT1/4 | 95 | 12 | 95 | 11 | -
80 52 |62 [ 11| 41| 51 94 10425 6 M14x1.5 20 |22] 17 | 11 [M12x1.75@3L:®10.4| 25 | 74 | 45 | 5 | PT3/8 | 11.56|145| 115|145 -
100 | 63|73 12|51 |61 [114[124]32| 7 [M18x1.5/ 20 |27 | 19 | 13 'M14x2.0 @3:®12.4|/ 30 | 90 | 55| 5 | PT3/8 | 16 | 205 | 16 |20.5| —
SFRR T ! AB(AB+B7)B 1712
AB(AB+ER)B L1712 | DA(DA+EREHTIE)
AR A e as = 1o ‘
©12, 016 DA(DA+BE)HHIT2) 1 ©20~0100 B
EB | EA
EA ; FA
_FA_ ! -
| —
— ! ——
> I >
ee‘ - ! el {EQ*»
=/ 3 7_‘_
FE Hm’/ i E/ F/ H
—_\E - ! - _
,(@)@mi [
WEWE AB DDA E EAEB F FA H M MA
SDAD\SDAJ HE
12 17 |6 16| M5x0.8 | 10| 12| 8 | 4 | 5 [10.2 1 1
16 |175|/6 16| M5x0.8 |10 12| 8 | 4 | 5 | 11 15 15
20 [205/8 19| M6x1.0|13[15|10| 5 | 6 | 13 15 15
25 23 [10/21|M8x1.25/ 1517 /12| 6 | 8 | 17 2 2
32 25 [12/22] M10x125 | 1518 | 17| 6 | 10| 22 3 25
40 35 (16|32 |M14x1.5|25 |28 19| 8 |14 | 28 3 3
50 37 [20/33 | M18x1.5|25 28|27 |11 |17 | 38 4 4
63 37 (2033 |M18x1.5|25 28|27 | 11|17 | 40 4 4
80 44 (2539 M22x1.5/30 33321322 45 5 5
100 50 [32/45 | M26x15 353836 13|27 | 55 5 5

150




ik Al

AIl'TAL

SDAZJI
SSA ~ STA
©12. ©16 L 012, 016
KA KA > i KA KA -
A N 1 A A
<~ i <
T - | — -
o ! Wz
e — ; e ]
=== 1 ! e -
=8 P/ |PB| ! _@E8 |PA \P
DAMA- ! DA+T#2 MA
ABl | AC+T#2 3 AB+113 AC+{T12
A+1T718 A+{TIE x 2
©20~063 | ©20-063
KA KA S ! KA KA S
1 5 8 : 22 qe
o 3 hia
§D£ { $77 i 2@( — N
ele Q ele @ @
H — —] | H E—
__EB | _@E
DA| |va ® |PB : PA \P
AB AC+{T12 i DA+{T2 MA
A+{T12 i AB+{T#2 AC+{T12
| A+{TIE x 2
= AR ifE) A(F8E) AC(#5if) AC (P} i)
MBS 51<10 st>10 St<10 5t>10 B 'st=10 st>10 st<10 st=10 © BA
12 32 42 42 52 | 5 27 37 37 47 |25 | -
16 34 44 44 54 | 55| 285 | 385 | 385 | 485 | 29 | -
20 35 45 45 55 | 55| 295 | 39.5 | 395 | 495 | 34 | 36
25 37 47 47 57 | 6 | 31 41 41 51 | 40 | 42
32 415 | 515 | 515 | 615 | 7 | 345 | 445 | 445 | 545 | 44 | 50
40 43 53 53 63 | 7 36 46 46 56 | 52 |58.5
50 47 57 57 67 | 9 | 38 48 48 58 | 62 |71.5
63 51 61 61 71 9 | 42 52 52 62 | 75 |845
mEES D [DA E EA|H|[J [JA K KA| KB | M [MA P PA[PB| T
12 6 | 4| M3x05| 6 | 5 | 65|45 M5x08@3,: 042 | 12 163102 1 | M5x0.8 | 75 | 5 | 23
16 6 | 4| M3x05| 6 | 5 |65 |45 M5x08@3,:042 | 12 /198 11 |1.5| M5x08 | 8 | 55 | 28
20 84 M4x07| 8 | 6 | 65|45 M5x08E3,:®42 | 14 | 24 | 13 15| M56x08 | 9 | 65| -
26 [10] 4 | M5x08 10| 8 [82|55| M6x1.0@5,:®52 |15 | 28 |17 | 2 | M5x08 | 9 |65 | -
32 124 [M6x1.0] 12|10 |82 |55| M6x1.0@3:052 | 16 | 34 | 22 |2.4| PT1/8 9 | 9 | -
40 | 16| 4 [M8x1.25| 12 | 14 [105 65| M8x1.25 @3 ®6.7 | 20 | 40 | 28 | 3 | PT1/8 |95 | 75| -
50 | 20| 5 [M10x1.5| 16 | 17 |10.5/ 65| M8x1.25@3L:®6.7 | 25 | 48 [ 38 | 4 | PT1/4 [105 105 -
63 | 20| 5 |[M10x1.5 15| 17 |105/ 6.5 | M8x1.25@3,:®6.7 | 25 | 60 | 40 | 4 | PT1/4 | 12 | 11 | -

DEIINFRTU1ESEP 1500,




ik Al

AIl'TAL

SDAZR I
SDAD
012, ©16
MA_PA  PA
e OO
e —
AB| | AC+{712 AB+{T12
A+TIE x2
©20~100
MA_
7
=
72+
ft-o——o—
PA [PA| PA+TIE
AB AC+{T1g AB+/T12
A+1T1E x 2
AC
Ty 21— AB = DA
WEWS s | e BE | M
12 27 37 5 17 27 4
16 295 | 395 | 55 185 | 285 4
20 305 | 405 | 55 195 | 295 4
25 33 43 6 21 31 4
32 385 | 485 7 245 | 345 4
40 40 50 7 26 36 4
50 46 56 9 28 38 5
63 50 60 9 32 42 5
80 63 73 11 41 51 6
100 75 85 12 51 61 7
- EA PA
hEWS E st<10 st=10 M MA 55 /st5
12 M3 x 0.5 6 6 |102] 1 | 55 | 6.3
16 M3 x 0.5 6 6 | 11 15| 65 | 7.3
20 M4 x 0.7 8(St=5[V6.5) 15 |15 | 75 7.5
25 M5x0.8 | 10(St=66Y7) | 17 | 2 | 8 | 8
32 M6 x 1.0 3 12 22 3 8 | 9
40 | M8x125 | 8 12 128 3| 8 | 10
50 M10x 1.5 8 15 38 4 8 10.5
63 | M10x1.5 | 10 15 | 40 4 | 95 | 11.8
80 M14x1.5 13 20 45 5 11.5 | 14.5
100 | M18x15 | 18 20 | 55| 5 | 16 | 205

DE REFZRY SREREE,
IFRTIBEZSEARP1600,

SDAJ
012, 016
vaza P
iy
.8 1=l
% AD+ERITIE
AB| AC+T12
A+TI2 x 2+ R T12
20~ 9100
MA
e FA
=
=
PAL  _ PAl|  m
AB|. [ TAC+{T12™ 7 |AD+{TIE+ERITIE
A+TIZ x 2+FERIT12
A AC
e AB - AD E
WEWS s | wa BE | W
12 40 50 5 17 27 17 M3 x 0.5
16 425 | 525 | 55 | 185 | 285 | 17 M3x 0.5
20 475 | 575 | 55 | 195 | 295 | 21 M4 x 0.7
25 54 64 6 21 31 25 M5 0.8
32 615 | 715 7 245 | 345 | 27 M6 x 1.0
40 64 74 7 26 36 28 M8 x 1.25
50 70 80 9 28 38 29 M10x 1.5
63 74 84 9 32 42 29 M10x 1.5
80 925 | 1025 | 11 41 51 355 | M14x15
100 | 1105 | 1205 | 12 51 61 425 | M18x15
- EA PA
MEBERS gic10/st=10 A M MA o o st i
12 6 6 4 102 1 | 55 6.3 M5 x 0.8
16 6 6 4 11|15 65 7.3 M5 x 0.8
20 8(St=50965 | 5 | 15 | 15 | 75 7.5 M6x 1.0
25 10(St=50Y7) | 6 | 17 | 2 3 8 M8 x 1.25
32 8 12 | 6 22| 3 8 9 M10x 1.25
40 8 12 | 7 28] 3 3 10 | M12x1.25
50 8 15 | 8 38| 4 3 105 | M16x1.5
63 10 15 | 8 40| 4 | 95 | 118 | M16x15
80 13 20 | 10 | 45 | 5 | 115 | 145 | M20x1.5
100 18 20 |135| 55 | 5 | 16 | 205 | M27x2.0

DE REFZRY SnEREE,
IFRTIBESEARP1600,

152



BES Air'TAC
SDAZR I

SDAT SDAW
012, 016 012, ©16
A+({TFR1 x 2+1T7%22) A+(TIE1+17122)
PA PA PB PA....PA P
T ol o 3 5ifo—qfo—<
H o e H 1 — |
—— | JANG=P JA —= ||[_1lua JA]
_ﬁmmi KA 7 — @8 KA \ 4-P
DamA o DA| || MA MA
AD+({T121+/7182) AD+{7121 AD+{T22| AD+{T12
AB| | ACHITIET x 2+417722) ABl | AC+(FR1+7122) | |AB

A+({TTE1 x 2+1T7122)
PB PA_PB  PA

A+(TI21+17122)
PE PA____PA PB

o Q100

soe——oe o
e e = —
o A 3-p/ JAL] JA JA
A KA \4-P
DA[[IMA
ANL (=121 Lm0 =10 DA| | MA MA
AD+({T1E1+{T122)| _AD+{J121 AD+SEIAD+/578
AB AC+({T121 x 2 +{71£2) +{J122AD+{T712

AB| |AC+(TI21+{7122) | |AB

DEIINFRY1ESEP1500, DEI SN FRTIEZEP 16500,

- A AC AD ! = A AC AD

S BE R AB e T B BA D |DA | S SR g AB SR HE bR W B [BA| D | DA
12 39 | 59 | 5 |34 B4 17| 27|25 - | 6| 4 : 12 44 | 64 | 6 | 34 | B4 | 17 | 27 | 25| - | 6 | 4
16 425 /625|565 | 37 | 57 |185[285/ 29| - | 6 | 4 | 16 43 | 68 | 65 | 37 | 57 |185[285] 29 | - | 6 | 4
20 445 |645] 55 | 39 | 59 [195/295| 34 [ 36| 8 | 4 | 20 50 | 70 | 55 | 39 | 59 195|295 | 34 |36 | 8 | 4
25 48 | 68 | 6 | 42 | 62 | 21 | 31 |40 |42 | 10| 4 : 25 54 | 74 | 6 | 42 | 62 | 21 | 31 | 40 | 42 | 10| 4
32 56 | 76 | 7 | 49 | 69 |245(345| 44 | 50 12 | 4 | 32 63 | 83 | 7 | 49 | 69 |245 /345 44 | 50 | 12 | 4
40 59 | 79 | 7 | 82 | 72 | 26 | 36 | 52 |585] 16 | 4 3 40 66 | 86 | 7 | 52 | 72 | 26 | 36 | 52 |585| 16 | 4
50 65 | 85 | 9 | 56 | 76 | 28 | 38 | 62 |715| 20 | 5 ! 50 74 | 94 | 9 | 56 | 76 | 28 | 38 | 62 |715| 20 | 5
63 73 | 93| 9 | 64 | 84 | 32 | 42 | 75 [845] 20 | 5 | 63 82 | 102 9 | 64 | 84 | 32 | 42 | 75 |845| 20 | 5
80 93 [ 113 11 | 82 [ 102 ] 41 | 51 | 94 [104] 25 | 6 : 80 104 | 124 [ 11 | 82 [ 102 | 41 | 51 | 94 [104| 25 | 6
100 114134 12 [ 102|122 ] 81 | 61 [114]124| 32 | 7 i 100 126 | 146 | 12 | 102 | 122 | 51 | 61 [ 114|124 | 32 | 7

HEEGS E EA| H | J [JA K KA L ERES E EA| H | J [JA K KA
12 M3x05 | 6 | 5 | 65|45| M5x08@3I:®4.2 | 12 i 12 M3x05 | 6 5 | 65 | 45 M5 x 0.8 3B3: ©4.2 12
16 M3x056 | 6 | 5 65| 45| M5x08@3:042 | 12 | 16 M3x05 | 6 5 | 65| 45 M5 x 0.8 3B3L: ®4.2 12
20 M4x0.7 | 8 6 | 65|45 M5x0.8iES: 4.2 14 : 20 M4 x 0.7 8 6 | 65 45 M5 x 0.8 JBSL: ©4.2 14
25 M5x0.8 | 10 | 8 | 82|55 | M6x1.0M®3:®52 | 15 i 25 M5x08 | 10 | 8 |82 | 55 M6 x 1.0 J@3L: ®5.2 15
32 M6x1.0 | 12 | 10 | 82 [ 55| M6x1.0M@3:®52 | 16 ; 32 M6x10 | 12 | 10 | 82 | 55 M6 x 1.0 3@3L: ®5.2 16
40 M8x1.25 | 12 | 14 [105| 6.5 | M8x1.253@3: 6.7 | 20 ! 40 M8x125 | 12 | 14 [105| 65 | M8x1.253@3,:®6.7 | 20
50 M10x15 | 15 | 17 [105| 6.5 | M8x1.25 @3 6.7 | 25 | 50 M10x15 | 156 | 17 |105| 65 | M8x1.25@3,:®6.7 | 25
63 M10x15 | 15 | 17 [105| 6.5 | M8x1.25 @3 6.7 | 25 : 63 M10x15 | 156 | 17 |105| 65 | M8x1.25@3,:®6.7 | 25
80 M14x15 | 20 | 22 | 17 | 11 | M12x1.753@3[:®10.4 | 25 | 80 M14x15 | 20 | 22 | 17 | 11 | M12x1.75 @3:©10.4 | 25
100 M18x1.5 | 20 | 27 | 19 | 13 | M14x2.03@3:®12.4 | 30 ; 100 M18x15 | 20 | 27 | 19 | 13 | M14x2.0@3:®12.4 | 30

- PA PB i - PA PB

EERS| KB | M |MA| P |Gt [ 506 | 5i5 | S5 | BEWS) KB | M | MA P st=5  st-5 st=5 | st>5
12 16.3 | 10.2 1 |M5x08| 5 5 75 7.5 | 12 16.3 | 10.2 1 M5 x 0.8 5 5 7.5 7.5
16 198 | 1 156 [M5x08] 5 5.5 8 8 | 16 198 | 11 15 | M5x0.8 5 5.5 8 8
20 24 13 15 |M5x08] 5 55 8 9 | 20 24 13 15 | M5x0.8 5 5.5 8 9
25 28 17 2 | M5x08| 55 55 9 9 | 25 28 17 2 | M5x08| 55 5.5 9 9
32 34 22 25 | PT1/8 6.5 9 9 9 | 32 34 22 25 PT1/8 6.5 9 9 9
40 40 28 3 PT1/8 75 75 95 95 : 40 40 28 3 PT1/8 75 75 95 9.5
50 48 38 4 PT1/4 8 10.5 8 10.5 | 50 48 38 4 PT1/4 8 10.5 8 10.5
63 60 40 4 PT1/4 9.5 11 95 12 ; 63 60 40 4 PT1/4 9.5 11 95 12
80 74 45 5 PT3/8 | 1156 | 145 | 115 | 145 ! 80 74 45 5 PT3/8 1156 | 145 | 115 | 145
100 90 55 5 PT3/8 16 20.5 16 20.5 | 100 90 55 5 PT3/8 16 20.5 16 20.5

O 153



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

